——
llﬁ\\

OBC

Oskoyi Ballbearing Company

Horizontal Toggle Clamps

&

il | B | | Ve X2) VERIM BASKI VIDASI ANGLE) | (WEIGHT

R R (109, TR ( (Y)IELD) ( (Y)IELD) (SQUEEZE SCREW) (( s5 °)) M(gr) )

(FLFi) F2Fi)

13-1 S113-... B115-.. | 80 | 65 | 1000 | 800 71 31 M5X35 90° 155
113 -2 S113-.. B 113-... 1000 750 1200 1000 71 31 M6X40 90° 270
113-3 S113-.. B115-.. | 2500 | 1250 | 2500 | 1350 8:1 41 M8X50 90° 420
13-4 S113-.. B113-.. | 3500 | 1800 | 3650 | 2000 91 41 ML0X70 %0° 940
113 -5 S113.. B115-.. | 4500 | 2000 | 5000 | 2125 101 5.1 M12X80 90° 1840

\ F1-F2 : BASKI KUVVETI ( EXERTING FORCE ), F3 -F4 :TUTMA KAPASITESI (HOLDING CAPACITY ), Fi : UYGULAMA KUVVETI ( APPLIED FORCE ) |

\‘y\
&
K
r{ [ Ay
- SRt
ol ™ AB F3
Ol [|1O
< og po
Ol IS,
X1 5
X2

Body Mounting Base Side Ward |
/V =
ol
;

MODEL NO : 113-1 MODEL NO : 113-2 MODEL NO : 113-3 MODEL NO : 13-4 MODEL NO : 113-5
MODEL NO A B C D E F 6 | H H2 J K L M N X1 X2
113-1 3 3 | 40 | 28 135215 19215 [225 | 73 | 128 | 10 | M5 | 148 5%9 12 30
113-2 | 45 [ 60 | 4 20 [255335) 34 | 90 | 149 | 14 | Me | 184 | @6 6x10 13 48
113-3 385 | 46 | 58 | 42 | 2425 [275325] 41 | 107 | 183 | 14 [ M8 [ 25 | @ 7%9,5 16 4
113 -4 54 60 91 73 32 32-40 | 465 | 135 230 19 M10 296 085 9x13 18 74
113 -5 75 66 | 117 | 92 | 4253 | 42 | 54 | 177 | 291 | 255 | M12 | 345 | @10 | 10x158 25 95

(021) 33913364 - 33951660 : wsli ¢
(021) 33985603 : uuSS PR




	Page 2

